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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 |Answer any six out of Ten. (2 Marks Each) (12) | Co/Po Blooms
Name Taxonomy
Words
1. Define Chemical Kinetics. Co1 Knowledge
2. Define Half Life of Reaction. CO2 Knowledge
3. Give one Example of Endothermic and Exothermic Reaction. Co1 Application
4. Define Rate constant. write its unit for second order reaction. CO2 Knowledge
5.Define Activation Energy and write its unit. CO2 Knowledge
6.Draw plot of InK vs 1/T and mentioned the slope. CO2 Evaluate
7. How we can obtain Kinetic Data ? CO3 Create
8. Define Rate of Reaction. Co1 Knowledge
9. State Arrhenius law with equation. CO2 Understand
10.Write differential Rate equation for N2 + 3H2 ---->2NHjs CO2 Create
Q.2 |A) Derive CA = CAO (1-XA) for constant volume system. (03) | CO3 Analyze
OR
A) Derive In(K2/K1) = (E/R) {1/T1 - 1/T2} from Arrhenius law. (03) | CO2 Analyze
B) Give Difference between Elementary and Non-Elementary Reaction. (03) | CO2 Application
OR
B) Give Difference between Order of Reaction and Molecularity. (03) | CO2 Application
C) Derive Integrated rate Equation for unimolecular First order Reaction. (04) | CO3 Analyze
OR
C) Derive Integrated rate Equation for bimolecular Second order Reaction in (04) | CO3 Analyze
terms of Conversion.
D) Write down detail classification of Chemical Reaction. (Explain Any Four (04) | CO1 Analyze
with Example)
Q.3|A) Write Step wise procedure for kinetic data analysis by Differential method. (03) | CO3 Analyze
OR
A) Write Step wise procedure for kinetic data analysis by Integral method. (03) | CO3 Analyze
B) Half life of first order reaction A+B=C is 10 min. What % of A remains | (03) | CO3 Evaluate
after 100 min.
OR
B)The rates of reaction at concentrations 0.15 mol/l and 0.05 mol/l are 2.7 | (03) | CO2 Evaluate
* 10 and 0.3 * 10" mol/(l.min). What is the order of reaction with respect
to the reactant.
C) Rate of reaction is -ra = 0.0079 Ca? mol cm= min™ . (04) | CO2 Evaluate
If concentration is expressed in mol/lit and time in hour, what is the value
and unit of rate constant.
OR
C) On Tripling the Concentarion of reactant, Rate of reaction becomes multiple | (04) | CO2 Evaluate
of four. so find out Order of Reaction.
D) At 25 ° C the rate constant for the hydrolysis of ethyl acetate by NaOH | (04) | CO3 create

is 6.5 (I/mol).(min)? starting with concentration of base and ester of 0.03

mol/l of each. what proportion of ester will be hydrolysed in 10 min?
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